
MATH 0300 BEGINNING ALGEBRA FORMULA SHEET 

𝐴𝐴 = 𝑙𝑙𝑙𝑙 

𝑃𝑃 = 2𝑙𝑙 + 2𝑤𝑤 

𝑚𝑚 =
𝑦𝑦2 − 𝑦𝑦1 
𝑥𝑥2 − 𝑥𝑥1

 ,𝑤𝑤ℎ𝑒𝑒𝑒𝑒𝑒𝑒 𝑥𝑥2 ≠ 𝑥𝑥1 

𝐴𝐴𝐴𝐴 + 𝐵𝐵𝐵𝐵 = 𝐶𝐶 

𝑥𝑥 = 𝑘𝑘 

𝑦𝑦 = 𝑏𝑏 

𝑦𝑦 = 𝑚𝑚𝑚𝑚 + 𝑏𝑏 

𝑦𝑦 − 𝑦𝑦1 = 𝑚𝑚(𝑥𝑥 − 𝑥𝑥1) 

𝑎𝑎(𝑏𝑏 ± 𝑐𝑐) = 𝑎𝑎𝑎𝑎 ± 𝑎𝑎𝑎𝑎 

𝑓𝑓(𝑥𝑥) =  𝑚𝑚𝑚𝑚 + 𝑏𝑏 

𝑓𝑓(𝑥𝑥) =  𝑏𝑏 

�
𝑥𝑥1 + 𝑥𝑥2

2
,
𝑦𝑦1 + 𝑦𝑦2

2 � 

𝑏𝑏0 =  1 

𝑓𝑓(𝑥𝑥) =  𝑎𝑎𝑥𝑥2 + 𝑏𝑏𝑏𝑏 + 𝑐𝑐 

𝑥𝑥 =
−𝑏𝑏 ± √𝑏𝑏2 − 4𝑎𝑎𝑎𝑎

2𝑎𝑎
 

ℎ =  − 𝑏𝑏
2𝑎𝑎, 𝑘𝑘 = 𝑓𝑓 �− 𝑏𝑏

2𝑎𝑎� 

𝑓𝑓(𝑥𝑥) =
𝑝𝑝(𝑥𝑥)
𝑞𝑞(𝑥𝑥)

 

𝑓𝑓(𝑥𝑥) =  |𝑥𝑥| 

(𝑓𝑓 ± 𝑔𝑔)(𝑥𝑥) = 𝑓𝑓(𝑥𝑥) ± 𝑔𝑔(𝑥𝑥) 

(𝑓𝑓𝑓𝑓)(𝑥𝑥) = 𝑓𝑓(𝑥𝑥)𝑔𝑔(𝑥𝑥) 

�
𝑓𝑓
𝑔𝑔
� (𝑥𝑥) =

𝑓𝑓(𝑥𝑥)
𝑔𝑔(𝑥𝑥)

,𝑔𝑔(𝑥𝑥) ≠ 0 

𝑏𝑏0 = 1, 𝑓𝑓𝑓𝑓𝑓𝑓 𝑏𝑏 ≠ 0 

𝑎𝑎𝑚𝑚 ∙ 𝑎𝑎𝑛𝑛 = 𝑎𝑎𝑚𝑚+𝑛𝑛 

𝑎𝑎𝑚𝑚

𝑎𝑎𝑛𝑛
=  𝑎𝑎𝑚𝑚−𝑛𝑛 

(𝑎𝑎𝑚𝑚)𝑛𝑛 =  𝑎𝑎𝑚𝑚∙𝑛𝑛  

(𝑎𝑎𝑎𝑎)𝑛𝑛 =  𝑎𝑎𝑛𝑛𝑏𝑏𝑛𝑛 

�
𝑎𝑎
𝑏𝑏
�
𝑛𝑛

=  
𝑎𝑎𝑛𝑛

𝑏𝑏𝑛𝑛
 , 𝑓𝑓𝑓𝑓𝑓𝑓 𝑏𝑏 ≠ 0 

𝑎𝑎−𝑛𝑛 = 1
𝑎𝑎𝑛𝑛

 ;  1
𝑎𝑎−𝑛𝑛

= 𝑎𝑎𝑛𝑛 

𝑎𝑎−𝑛𝑛

𝑏𝑏−𝑚𝑚
=  
𝑏𝑏𝑚𝑚

𝑎𝑎𝑛𝑛
 ;  

�
𝑎𝑎
𝑏𝑏
�
−𝑛𝑛

=  �
𝑏𝑏
𝑎𝑎
�
𝑛𝑛

 

𝑎𝑎
1
𝑛𝑛 =  √𝑎𝑎𝑛𝑛 , 𝑎𝑎−

1
𝑛𝑛 =  

1
√𝑎𝑎𝑛𝑛 , 𝑎𝑎 ≠ 0 

𝑎𝑎
𝑚𝑚
𝑛𝑛 = √𝑎𝑎𝑚𝑚𝑛𝑛 = (√𝑎𝑎𝑛𝑛 )𝑚𝑚 

√𝑎𝑎𝑛𝑛 ∙ √𝑏𝑏𝑛𝑛 = √𝑎𝑎 ∙ 𝑏𝑏𝑛𝑛  

�
𝑎𝑎
𝑏𝑏

𝑛𝑛
=  

√𝑎𝑎𝑛𝑛

√𝑏𝑏𝑛𝑛  

√𝑎𝑎 = 𝑏𝑏 𝑖𝑖𝑖𝑖 𝑏𝑏2 = 𝑎𝑎 𝑎𝑎𝑎𝑎𝑎𝑎 𝑏𝑏 ≥ 0  

𝐼𝐼𝐼𝐼 𝑥𝑥𝑛𝑛 = 𝑎𝑎, 𝑡𝑡ℎ𝑒𝑒𝑒𝑒 𝑎𝑎 = √𝑎𝑎𝑛𝑛  


